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Di_R-1 (0.25) 80° _8-1 _ 4056 (0.25) li
— = 25) = —= = 80.56 mm (0.
y | D} Rei-1 D: 81-1 : : \

AD = D, - Dy (0.25) = 80.5 — 80 = 0.56 mm (0.25)

P, =10x10=100 N/cmz , n=3300-+60=55RPS

P,xVgxnxn, 100 x 3 x 55 x0.80
e= 200 (0.25) = 200
v |p _Muxn (0.25) » M _ 66 X 9550

€ 9550 m 3300
2xM,, 2x191

F, 4400
Vm=2XSxn (0.25)=2x0.08 x 55 = 8.8 M/gp. (0.25)
F,=nxf, =6x600=3600N (0.25) b=d,—d=240-180=60mm=6cm (0.25)

3600
3x24%x6

=66 kw (0.25)

=191m.N (0.25) Y

S
My =F x5 (0.25) - S= =0.08m (0.25)

Fc=Pcxmxdy,xb (0.25) - P, = =8.33 N/sz (0.25)

d, 240
" | Rn=t="-=120mm=0.12m (0.25) | r

Fp=F:x2xkxp (0.25)=3600x2x1x0.5=3600N (0.25)
M; = F; X R, = 3600 x 0.12 = 432 m.N (0.25)

£

MPLR = Mm X iGR X iD (0.25) =150%x3.5Xx5=2625mN (0.25)

n
Ny = ——=— (0.25) - n,, = 120 x 3.5 x 5 = 2100 RPM (0.25)
18 icr X ip | v

n 2100
Ny, = +——— (0.25) = =210 RPM (0.25)

igz X ip 2x5

45
0.75

e

P
=5 (0.25)>P = =60 kw (0.25)
{

Q. = P, x 3600 (0.25) = 60 x 3600 = 216000 "i/hr (0.25)

Y XV X Cyxn, (0.25) > V° 216000 20.65 lit/,  (0.25 8
—_ - = = . .
8 1Q=p vXNe (O 0.85 x 41000 x 0,30 hr (0-25)

216000

ftahidehhi kj
030 = 720000 /hy (0-25)

Q.=Qxn, (0.25) » Q =

Q' = Q- Q. (0.25) = 720000 — 216000 = 504000 ki/hr (0.25)

Q. = Q@ xn,, (0.25) = 300000 x 0.35 = 105000 kf/hr (0.25)

_ 105000 kg
Q. =M, X Cp XAt (0.25) » M, = 12525 = 1000 /py (0.25)
Y K x 100 9 x 100 : ?

v — = lit :
C=—7 (0.25) = =10 "/ 00km (0-25) ‘

105000

= Qu (0.25) =

nxp, X Cp XAt 250x1x4.2x25

= 4 lit (0.25)
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a, 0

ti = (0.25) ~ &= 0.018 x 6 x 2000 = 216" (0.25)
a [}

te =55 (0.25) > @=0.006x3x 2000 = 36 (0.25)

36 °
a=0.6xy (0.25) —>y=ﬁ=60 (0.25)

B=y—a (0.25) = 60 —36 = 24" (0.25)

o,

wxd? 3x3?%

4 4
F=PxA=20x6.75=135N (0.25)
FXxL (0.25) = 135 x 100

a—ub 50—-0.8x40

‘= F,=Fyxpu (0.25) =750 x 0.8 = 600 N (0.25)

Mg =2xF; xR (0.25) =2 x 600 x 0.07 =84 m.N (0.25)

= 6.75 cm?® (0.25)

Fy=F,= =750 N (0.25)

v=90km/ +3.6=25M/sc
$;=100—5=95m (0.25)
Sp=Vxty=25x1=25m (0.25)

S =Sy —Sg (0.25) = 95 —25 =70 m (0.25)

s=V (0.25) 25¢
E . ->a=
2a a=3%70

=4.46 ™/, (0.25)

t=Y (0.25) =2 =5.60 0.25
=4 (0-25) =3¢ =5.60 sec (0.25)

Fjp=Gxpxcosa (0.25) = 20000 x0.02x1=400N (0.25)

Fy =G xp (0.25) = 20000 x 0.08 = 1600 N (0.25)

F, = 0.048 X C,, x A X V'2 (0.25) = 0.048 X 0.5 x 3 x 90 = 583.2 N (0.25)
Vi =V+Ve=72+18=90 km/

Fg=Fy +F, + Fg (0.25) = 400 + 1600 + 583.2 = 2583.2 N (0.25)

‘0

v=90km/ +3.6=25M/gec

V= J/Rxgxtga (0.25) - R= v = 25% =250m (0.25)
gXtga 10x0.25

l"=m><‘—/i (0.25)=1200x—2—i=3000N (0.25)

R 250
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